
 

Ա. 45: x=5 

45:5=9 

Ստ՝. 45:9=5 

540: x=90 

540:90=6 

Ստ՝. 540:6=90 

780: x=65 

780:65=12 

Ստ՝.780:12=65 

 

Բ.48:x=6 

48:6=8 

Ստ՝.48:8=6 

320:x=80 

320:80=5 

Ստ՝.320:5=80 

4140:x=18 

4140:18=230 

Ստ՝.4140:230=18 

 

 

 



 

    Լուծում 

1. 7x15=105կ. 

2. 105+5=110կ. 

Պատ.՝110 կոնֆետ: 

 

 Լուծում 

1. 82+25=107մմ. 

2. 107x2=214մմ. 

3. 214+82=296մմ. 

Պատ.՝296 պարագիծ: 

 

Ա. Մկրատ , ժամացույց, հաշվիչ 

Բ. Նոթատետր , գլոբուս 

Դ. Կարկին, մկրատ, հաշվիչ , նոթատետր 

 


